OBSERVATIONAL COSMOLOGY

PROBLEM SHEET 1 — DUE 11/04/2019

Using their integral form, plot the luminosity distance Dy, (z) and the angular-diameter
distance Dj(z) versus the redshift for different values of the curvature parameter (i.e.

open, close or flat universe) and different choices for Qy,, Qa, Q.
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Remember that Q. + Qp, + Qx + Q4 = 1; note that for an open universe (k = —1)
Qk > 0, for a closed one (k =1) Q < 0 and for a flat one (k = 0) Qx = 0. You can also

try and use different values for Hy and see what happens.



